A LITTLE BIT OF MATHS EVERY DAY ...

MONDAY TUESDAY WEDNESDAY THURSDAY FRIDAY SATURDAY SUNDAY
1 2 3 4 5 6
Write 360 as a product of Work out: An adult frain ficket costs £24. Work out: 50 people each did one activity at a sports centre. They either went swimming,
its prime factors During March there is onem played sqhuash OT went fo the 1gym
. o the price = 21 of the people were female
2 E 1 = 2 How mu-coh- doez Z:c; a5 Ti(fef § _ 1 - _l.L_ 6 of the 8 people who played squash were male
& 3 3 " 5 7 X 3 Qq osh? 5 3 ls 18 of the people used the gym.
X ! 9 males went swimming
"24"' 3= ﬁ.i‘i Work out the numb:r oFeFema\es who used the gym _é
7 (nvcene A Tmescae !) 8 9 10 1 12 13
Draw an ordered stem & | Design a questionnaire to Expand 2m(m + 3) Work out What is the range of these | What is the area of this shape?
lead diagram of these find out how many books 234 %37 numbers? ' o ]
| = 2
numbers: people buy. qu' + 6M without a caleulafor |34 15 28 23 22 140 I 6x6 = U6 . Wm o
2 1519 23 22 11 Hotomoge berksdagpo by . 16 1 [3]2e | =28 w428 124t
o onth? ! = | m
18 1718 21 25 12 |5 5 kD5 4L0-3: 3} A+28 A s A Y
QW:SQP 59w 15/107.=1-20 so/.=€& 16 17 V 19 20
bputs1gg Write 27.000 in standard | An childrens train ticket costs Simph{-‘y Expand (x + 4)(x + 3) Buses fo Acfon leave a bus station every 24 minutes. Buses fo Barfon
A4 pirt botfle of milkTosTs £118 form £12. During March there is 80%, 7 4 leave the same bus station every 20 minutes
A6 pint bottle of milk costs £174 off the price. ﬁz’Eﬁ a Xxa 2 A bus fo Acton and a bus fo Barton both leave the bus sfation at 9 00
Which bottle of milk is the best 93 I How much does a childs ticket 1] o™+ Bty +12 an.
value for money? 11O cost? (0} 2, 3 n When will a bus to Acfon and a bus fo Barton next leave the bus stafion
épmt wotte. ! 12-320 = £4-30 * x+ at the same time? [ | um
N —
21 ey 22 23 24 25 26 27
Simplify Expand 2p° (p - 2p°) Work out What is the median of these |Write 0.000508 in standard | Use frial and improvement fo solve this problem.
gl 127x 38 numbers? form C 4+ ¥ =100
cQ 4 6 without a calculafor 132119 273 5 5-06x10” Y Give your answer 1o 1 decimal place.
03 P -4p L82C 232918 25 2543
2l - =
28 29 30 31
Facforise Work out Write 525 as a product of Simplify
A3~ 124 £497x12 its prime facfors. (@'Y NEXT UP: APRIL ...

without a caleulator REMEMBER: THE BEST WAY TO REVISE MATHS IS TO "DO MATHS"!

Lx'(x-3) £sa-tu 353 0"
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